{1 RHINO-RACK

RMTXMPS Recovery Pins

1.

Item Component Name | Qty IID\la(\)rt

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 WO061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201
Note:

Kit is intended for use with 43159 Recovery
Track Brackets.

Issue: 03

Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

RMTXMPS Recovery Pins

1.

Item Component Name | Qty T\fgt
1 M10 Knob 4 | wms74 4 9
2 M10 x 100 Hex Bolt 4 B259 _
3 M10 Spring Washer 4 WO061 3 @
4 M10 Hex Nut 4 NO21 O
5 Instructions 1 R1201

Note:

Kit is intended for use with 43159 Recovery
Track Brackets.

Issue: 03

Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty

RMTXMPS Recovery Pins

1.

ltem Component Name | Qty T\lagt
1 M10 Knob 4 | wme74 " 9
2 M10 x 100 Hex Bolt 4 B259 -
3 M10 Spring Washer 4 WO061 3 @
4 M10 Hex Nut 4 NO21 O
5 Instructions 1 R1201

Note:

Kit is intended for use with 43159 Recovery
Track Brackets.

Issue: 03

Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty

Date: 09/02/17
i/ {
w;

Y RI'IINO 'RACK

RMTXMPS Recovery Pins

1.

Item Component Name | Qty T\fgt

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 WO061

4 M10 Hex Nut 4 NO21

5 Instructions 1 R1201
Note:

Kit is intended for use with 43159 Recovery
Track Brackets.

Issue: 03

Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

Date: 09/02/17
=2/ S/

N7 RI'IINO'RACK

RMTXMPS Recovery Pins

1.

Item Component Name | Qty F,)ﬁ,"

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 WO061

4 M10 Hex Nut 4 N021

5 Instructions 1 R1201
Note:

Kit is intended for use with 43159 Recovery
Track Brackets.

Issue: 03

Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

v# RHINO-RACK

RMTXMPS Recovery Pins

1.

Item Component Name | Qty F;\lagt

1 M10 Knob 4 M874

2 M10 x 100 Hex Bolt 4 B259

3 M10 Spring Washer 4 WO061

4 M10 Hex Nut 4 NO21

5 Instructions 1 R1201
Note:

Kit is intended for use with 43159 Recovery
Track Brackets.

Issue: 03

Document No: R1201
Prepared: Kayle Everett
Authorised: Chris Murty
Date: 09/02/17

58

Shop for quality Rhino-Rack products on our website.

Learn more about roof racks and cargo carriers we have.


https://www.carid.com/rhino-rack/
https://www.carid.com/roof-racks.html



